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2. e FuTaYE . Candidates are required to give
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5. ¥
JqUZ-F UF @US-F!

. gug-3r & 70 awgfve T 8, 6.

3 feef 3s Al @ I F
sfyard &1 35 7o @ SE F
I 37 W FIT 35 FT & FodiHT
g gdE & w1 3@ iR &1
FFHT TR 3 @ 170 ITeTH #1377
OMR 30¢-99% ¥ RT 77 gl famey
F A / FIet Fer O T TG F
frat Wt mEw & WA / @
garef / &S / WG AT FT OMR
IJAv-gFE H 9T #FAr wAr g
e TR TRYIA ST B

GUE - TH 2009 ITIT AT E |
TEF & fow 2 ot uiRa &, fd
g fe=et 10 WAl ¥ IT I
sfrard & | T ke 7 E@vs d
6 T Fwvta v R T & EF
% fo 5 oF fuika & FmH @
fr=t 3wyt @71 Fav W Afard
g1

| frgt gFER & sAaiE IYT H 8.

i qoiaE e &

[118

gvT 3@—-,3,,-7 g @vel § 8— 5. This question booklet is divided into

two sections — Section-A and

Section-B.

In Section-A, there are
70 objective type questions, oyt
of which any 35 questions are
to be answered. If more thagn
35_ questions are answered, then
only first 35 will be evaluated. Each
question. carries 1 mark. For
answenng these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

. In Section - B, there are 20 short

answer type questions. Each
carrying 2 marks, out of which
any 10 questions are to be

answered. Apart from these, there
are 6 long answer type

questions, each carrying
5 marks. Out of which any
3 questions are to be answered.

Use of any electrohic appliances Is
strictly prohibited.
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gug - A / SECTION - A

TS U / Objective Type Questions

m#z«m 18 70 3% ¥ 9% Wy 3 @iy 9w fawew 7o e 2, A @ v
@ 21w FIT R U e fwew F OMR e W faftAw & fEE
359y &7 IATF 1 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct:
You have to mark your selected option, on the OMR Sheet. Answer any

35 questions. 35x1=35
1. Trafafea § @ wem i 6 srfifean 38 2 2 |

(A) CH,COOCH, +H,0 —H=— CH,COOH + CH,OH
(8) CH,COOC,Hg *NaOH — CH,COONa + C,H;OH
(C) 2H,0, — 2H,0+0,

(D) 2N,0, —»4NO, + 0,

Which of the fuliowiné is not a first order reaction ?

(A) CH,COOCH, +H,O0 _H' , CH,COOH + CH,OH
(8) CH,COOC,H, +NaOH —> CH,COONa * C,H OH
() 2H,0, - 2H,0+0,

(D) 2N2‘35r-)n*fH\IO:E +0,
24 / A/ X11-5005-(37/40) Page 3 / 32
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fht fodta 1R 0 sfvfirm % I Rris 6 7o 2
(A) dWee! ! B) w3

€ wmdF! (D) wWe At

The unit of rate constant of a second order reaction is

(A) mol L !'sec! (B) mol 'L 'sec™!

(C) mol 'L sec™ (D) molL sec™?

et wffen &1 A wfiem d" —k[H]”?[B]”Q 2, ?ﬁ IR %
e &

@) 2 B 1 |

© 32 | D) 1

If the rate equation for a reaction is gx -Jt‘.[h’]1"'2[3]”2 the order
of reaction is bsebresult.in

@) 2 B 3

© 3 D) 1

Ssfer 3 arfusien dwarT % AR

A)  ~=kp!! B) Z=k.p'"

(C) xm=kp'/" o (D) ;ffpﬁn

24 /A [ X]11-5005-(37/40) Page 4 / 5?2—
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| [118
According to Freundlich adsorption isotherm l

X 1a.l/n
(a)  —==kp (B) r—:—=k . p'lr
(C) xm=kp'/" D) X__k
m pl'fﬂ
T
@A) = d wRafyg Ta - (B) vE ¥ ol
(€)= ¥ aR@fg s (D) =& & widfya e ‘

Milk is
(A)  fat dispersed in water {B] water dispersed in fat

(C)  water dispersed inoil (D) fat dispersed in fat

frafafen # s afskes FieieE ? ?

(A) & (B) ™.

© # D
Which of the following is a lyophilic colloid ?
(A) Milk J (B) Gum
(C) Fog | (D) Blood

T fafy g s & s d fafufeas & fea @@ w1 3w
BT 8 ?

(A) Al,O, (B) Fe+ Mo
© cuo (D) Pt
24 [ A/ XII-5005-37/40) Page 5 / 32
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Which of the following catalysts is used in the manufacture
ammonia by Haber's process ?

(A)  Al,O, (B) Fe + Mo
© CuQ (D) Pt
8. WRw ane Prferfien § s s wefterees wetoe T T R >
(A)  PCl, (B) PCl,
(C) socl, | @) ¢,
‘With which of the following does acetic acid not form acety
chloride ?
(A) PCl (B} PCI,
© socl, D) cI,
9. udemEe g ?
(A) i | (B) &l
€y rwd (D) =
Acelamide is
(A)  Acidic (B)  Alkaline
(C) Amphoteric (D) Neutral
Hj
10. cu,—-é—nn;, o=
CH,
Ww  arwt ol (B) ¥l Wi
(C) it ofm (D) wERAD omw
24 /A /X11-5005-(37/40) Page 6 IE.
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g
CHy—G—NH, is a
CHa,
(A)  Primary amine .'[B] Secondary amine
(C) Terﬁary amine (D)’ Quat;rnary salt
11, et B Y TR ot e KoK 3 wm i e T 2
(A) CH 3‘0H | (B) CH,CN
(C) * CH;CHO (D} CHSNC: |
Methylamine on heating with chloroform and alcoholic KOH gives
(A) CH,OH | (B) qﬁscw
(C) CH,CHO - (D) cH ,NC
1o, Freffes ¥ T wifes a2
(&) CgH,NH, ~ (B) (C4H),NH
() C,HNH, (D) (C,H.),NH
Which c;nf the following is the most basic ?
(A)  C¢HgNH, ~ (B) (CgHg),NH
(C) C,HNH, (D)  (C,Hg),NH
13, S B e ween Preffiea § Read g0 el Ad R 2
| (A) It T (B) WeHAN® T
() awe S F T (D) &S FU
- 24 /A X11-5005-37/40) Page 7 / 32
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The helical structure of protein is stabilized by which of the

following ?

(A} Ionic bond (B) Covalent bond

(C) van der Waals forces (D) - Hydrogen bond

14. ﬁmﬁ-rﬁaﬁﬁﬁqﬁa%a@ﬁ%?
(A) wHE (B) ma

© GhE - o) wHE

Which of the following is a ketohexose ?

(A) Glucose _ (B) chtosq
(C} Sucrose (D) Starch
15. @ frafaiea o fee FER @I 2
@) I @ (B) HEEds
(C) onfoa @ (D) g T
Which of the following types of crystal is diamond ?
(A) Ionic crystal (B} Covalent crystal
(C) Molecular crystal (D) Metallic crystal °

16. NaCl T@1 I a1 ®
() Wi =g e (B) m%@a-m
) i wwd - D) fis 3w T

__-—-""/
24 /A [ XII-5005-(37/40) l Page 8 / g
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18.

19,

[ 118 ]
The structure of NaCl crysta] is

(A)  Hexagonal close packing
(B) Face centred éubic

(C) Square planar

(D)  Body centred cubic

Frefafgs 4 w9 wdm g 2 »
() & B dewe
(C)  EHRY (D) w

Which of the following is an amorphous solid ?

(A) Diamond (B)  Graphite
(C) Common salt | (D) Glass
Fvwershr fifer frar el @ R St & 2

(A) 6 | (B) 4

(C) 8 (D) 12

An octahedral void is surrounded by how many spheres ?

(A) 6 . (B) 4

c 8 | D) 12

frdft Ryema ¥ G106 @ B BH-a1 b aen ®) i 7@

H@ R ?
(A)  HIRA (B) v
(C) e (D)

Page 9 / 32

24 [ A/ XI1-5005-(37/40)

by:BSEBResult.In



20.

21.

22,

[ 11g
Which of the following modes of expressing concentration

solution does not depend upon temperature ?

(A)  Molarity (B) Normality

(€) Formality (D) Molality

Frerffen § # troce from @ e e qatar £ 2

(A) C.H, ?TEITCEHSCH3 (B) C H, @¥1CCl,

(C) f::I—ICl3 GE2I C,H_OH (D) CHCIl, @1 CH,COCH,
Which of the following show positive deviation from Raoult's Jaw 7
(A) C H, and C¢H,CH, (B) C_,H, and CCl,

(C)  CHCI; and C,H sOH (D) CHCIl,; and CH;COCH,

%m%wﬂmﬁmﬁﬁmm%mm
forar s 2 2

_CR m_
(A) = (B) E=RT
() n=%’1 (D) n=%§

The osmotic pressure of a solution is represented by which of the
following equations ?

a)  n=LR B)  &=RT
© n=£L ) n=RL
Frafeaftaa & S5 smeitereriie sva = IEF R 2
(A)  H,PO, (B) H,PO,
(C) HPO, D) H,P,O,

24/A/XII~5005—[37;49} Page 10 / 32
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Which of the following is the molecular formula of Orthophosphoric

acid ?
(A} H,PO, _(B] H,PO,
(C) H.PO s (D) H,P,O,
23.  XeF, ! @G= Bt 2
(A)  EqEReThIA (B) ITHARI
(C) oiae™ (D) ¥ & &E T8
The structure of XeF ; 18
(A) Tetrahedral | (B) Octahedral
(C) Square planar (D) None of these
24. FrafafRed & 1 Relten wATers st e veRfa T & 8 2
Ay I (B) Br
(C) Cl (D) F
Which of the following halogens does not exhibit a poéit’ivc
oxidation state ?
A) 1 (B) Br
(C) . Cl (D) F
05,  frafeRaa # fras T4 |10 EH BT R ?
() H,O (B) H,S
(C) H,Se (D) H,Te
~ [24/A/X11-5005-@37/40) Page 11 / 32
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Which of the fdllowing has the smallest bond angle ?

(A) . H,O (B) H,S
- ©) H,se (D) H,Te
26 Pl ¥ R sraffr gt & don s 2 2
a) Mg B) T
() v3+ (D} Fe>*
Which of the . following has maximum number of unpaire;
electrons ?
[ﬂ]' Mg2+ [B} T 3+
) v (D)« Fe*
27. 'ﬁﬁmwdﬁsﬁmmmaﬁﬂmmwam@n%
A)  +2 (B) +3
€ +4 D) +6
The maximum oxidation state of chromium is
Ay +2 B) +3
€ +4 (D) +6
28. Cu®*'(z=29)3mgw# MM s 6t e 2
A) O B) 1
Cc) 2 _ D) 3

The number of unpaired electrons in Cy 2
(A) O (B) 1

C) 2 | (D) 3

Yion (Z=129)is

24]&/){11-5005-(37;40}
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29.

30.

3l.

| | ' [118]
foarfm St Gt whicd a1 § yo v fn @, a2

a) Tafm A  B) fwfwmp

© fafmE - (D) Tafm i

A vitamin which plays a vital role in the coagulating property of
blood is

(A) Vitamin A (B) Vitamin D

(C) Vitamin E (D) Vitamin K

FIRUH-T ]

(A) Teagmradz (B) Uhafes
© wreE D) hrifes
Chloramine-T is a/an

(A)  Disinfectant (B) Antiseptic

(C) Analgesic (D)  Antipyretic

| mww%mmmﬁmmﬁm%?

(A) TR (B) TEFES

© =w D) S

Hydrazine is a drug which is used in the treatment of which of the
following ?

(A) Malaria (B) Typhoid

(C) Cholera "~ (D) Tuberculosis

24 [A [ XII-5005-(37/40)
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33.

34.

Illi-_
fr=fafas 3 99 o ez 2 2

a) P (B) UM

(C) =i (D) ¥ AW
Which of the following is an alkaloid ?

(A)  Nicotine (B) Atropine
(C) Ci:;caiﬁe (D) All of these
Frafafaa & 55 whfos W 2 2

(A) 3 (B) TrEZIETEE
(C) diefiefefa (D) dheATEE
Which of the following is a natural rubber ?

(A) Isoprene (B)  Nitrocellulose
(C)  Polyethylene (D) Bakelite

Th F=1 G A AT 7§ 5 g 2, 2
(A)  uferefm (B) TSI
(C) ufsfs ara (D)  aTsEHy

A raw material used in making nylon is

(A)  ethylene (B)  butadicne

(C) adipic acid (D)  isoprene

24 /A /X1 5005-@7/40 Page 14 / 32
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35. F,C=CF, Fr=fafaa % fresm s 2 2
B (B) A
(C) TESH-6 (D) sE-TH
F,C=CF, isa monomer of which of the following ?
(A) Teflon (B) Glyptal
(€)  Nylon-6 (D) Buna-S
36. THuTEN feE ... ¥ T BN
(A) =S : (B) rderan
(€ wf® (D) weR |igw
Isotonic solutions have the same
(A)  Density (B) Normality
(C) Strength (D) Molar concentration
37. HCIW H,0 % Wi faso # e @
(A) 48% HCl (B) 36% HCI
(C) 22-2% HCI1 (D) 20-2% HCI
An azeotropic mixture of HCl and H,,O has
(A) 48% HCI (B) 36% HCI
(C) 22:2% HCI (D) 20-2% HCI
24 /A /XI1-5005-(37/40) Page 15 / 32
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39.

40.

96500 Ferm F1 firg MW CuSO % farew & T I

(&) 63-5 U diar B 31:76 M dis

(C) 96500 T diar (D) 100 AT diaT

A charge of 96500 coulomb liberates .............. " from the Sb]uti{};
of CuSO e

(A) 635 gm copper (B) 31-76 gm copper

(C) 96500 gm copper (D) 100 gm copper

SITheT A T Yer- Rt g 2

i A
Wz BT
R

C 1.4 o =

The cell constant of a conductivity 1ce11 is
L S
@ - B) - £

C 1.A | (D)

Sk

¥ Zn | ZnSO, | | CuSO, | Cu® fogm s wet 1.1 dvee )
e &

(A) Zn (B) cCu

(C) ZnS0, (D) cuso >

e

Page 16 / 32
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The electromotive force of the cell Zn | ZnSO, || CuSO, | Cuis

1:-1 volt. Its cathode is

(A)  zn B) Cu
(C) ZnSO, (D) CusoO,
41. EARw &1 fagE feea fear 2
(A) ¥R (B) smfwm
(C) IRETs (D) e
Who gave the theory of ionisation ? bsebresult.in
(A)  Faraday (B)  Arrhenius
(C) Ostwald (D) Rutherford
42. Tt wered Y affe ) o Pk et 2
(A) YUY G W (B) HHIY SHTE W
(C) Y S=HAH T (D) = amT W
The rate of reaction of a substance depends upon
(A) Atomic mass (B) Equivalent mass
(C) Molecular mass (D)  Active mass
43. Fyfafaa o fead sfifear ARee 238 § HH T RA 7@ 8 ?
(A) I Ag,0 (B) 3 Ag,O
(©) T ZnO (D) ¥ ZnO
24 [ A/ X11-5005-(37/40) Page 17 / 32
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44.

45.

| ol !
Alkyl halides form ethers by reacting with which of the fﬂ]lowing

(A)  Dryag,0 (B) Moist Ag;0
(C©) Dryzno - (D) Moist ZnO
OH

i

CHshéH.v CH,—CHO T IUPAC 79 &
A) 2T (B) 3-ERGEHEAE
C) 2T D) A
: OH
The IUPAC name of CHy— B CH,—CHO is
(A)  2-Hydroxybutanal . (B) .3-Hydroxybutanal -

(C) 2-Hydroxypropanal_ (D) None of these
BHH T s T 2

(a) wifiE 3 B

(B) wguwnt @

(C)  40% T % el wiver oy
(D) UNIHTifcSEES I

Formalin is the commercial name of

(A) Formic acid

(B) | Fluoroform

(C) 40% aqueous solution of methanal

(D)  Paraformaldehyde

—
24/A/X11-5005-7790 " Page 18/ %
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47.

48.

(118 ]

(A) T TR (B) U HoH
(C) T R D) TH A
An aldehyde on oxidation gives

(A) an alcohol ‘ (B) a kétone

(C) an ether (D) an acid

AR T & 7 AR A e A 2
{A) FHfegsEe @ (B) qmzf%g@ggﬁ
© whEE D) s

Chloretone is formed when chloroform reacts with

(A) Formaldehyde (B) Acectaldehyde

(C} Acetone (D) B.enzalde:hyde
| wgw SRS I w1 A

a) CH, .0 (B) C,‘HQ,[ O

() CH, O, D)  C,Hy, 1O

n 2n

The general molecular formula of saturated monpcarboxylic

acids 1s
lA] CHHQH +20 (B} CHHQH
(C) e H2 O? (D) C‘,,I'l-_;“ ; 10,‘
n rt L
@4/}\})(1[-5005-137;40; Page 19 / 32
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20.

Sl

[
W% 3w G whifesgme W Refiaa 3 fREe G faig
e @ ? '
(&) Nfiw o B) Efm =1d

(C) T w1 stfvets (D) @ifean agHEAe

L

By which of the following formic acid and formaldehyde cqy

t
distinguished ?

(A} Benedict solution (B) Fehling solution

(C) Tollen's reagent (D) Sodium bicarbonate
Fafafea 3 #7 am amrm: g s & g S d 2

(A)  Cu | (B} - Au

(C) Al | (D) Fe

Which of the following metals is generally found in free state ?

(A) Cu | (B) Au
(C) Al (D) Fe
fFreafafea d sl s g 2 2

(A) =it s @l #
(B) @t @fw g 8
(C) T GRS 3 T8 & ahar R

(D) U FTF Wi 781 8§ qhar @

e |
24 /A /XII-5005-(37/40) Page 20 / 32/
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Which of the following statements is true ?

(A)  All ores arc minerals
(B)  All mincrals are ores
(C) A mineral cannot be an ore

(D) An ore cannot be a mineral

52. TSGR urgeH 4 fareeh Frdo & dga g 1 g g @ 2
(A) @ | B) o
€ Toe= (D) e
Electrometallurgical process is used for the extraction of which of
the following metals ?
(A) Iron (B) Lead
(C)  Silver (D) Sodium
53 faEd 21 3em- e uTq IURME B4 2, a8 WA &
(A) = TR (B) e
(C) BETR (D) I 9IFA
An ore having two different metal atoms is
(A) Haematite (B) Galena
(C) Magnetite () Copper pyrite |
54, 1s? 2s” 21':»::l 2py12pzl frfafea # f&a a@ &1 awifes faa k ?
(A)  HadIA (B) €S
© A ) e
24 7A7X11-5005 077401 | Page 21 / 32
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Which of the following elements has electronic configuratiop,

2
1% 2s® 2px! 2pylopz! ?

(A)  Oxygen (B) Hydrogen
(C)  Nitrogen (D) Fluorine
5S.  Fefefea % ¥ mreerem @ arivare Sararen M\ 2 »
(&)  ies afgame . - . (B) TEH TS
€) ISR TeEe (D) SEATSER YemETse
Which of the following oxides of nitrogen is called laughing gas »
(A} Nitric oxide (B).  Nitrous oxide
(C)  Dinitrogen trioxide (D) | Dinitrogen pentoxide
56. Frfefaa ¥ fradhr wu st oad s 2 -
(A) oO0-o0 B) sS-8
(C) Se ~ Se (D) Te-Te
Which of the following has highest bond energy ?
(A) O-0 B) S-8
(C) Se-Se (D) Te- Te
S7. Ni(CO), ® Ni # Aiaeteno argeen 2
A) O B) 1
(C) 2 (D) 4
24 /A [ XI11-5005-(37/40 Page 2_5755
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The oxidation state of Ni in Ni (CO) 4 18

@A O B) 1
(C) -2 D) 4

58, e Hia & e ¥ frwe dier Riew Sorwe ged AU € ?
@A) [PUNH,) ICl, B)  [PHNH,)CIICL
(C) [Pt(NH,),CL,]Cl, (D)  [PtNH,);Cl ICl
}vhich of the following has the highest molar electrical conductance
in aqueous solution ?
(A)  [Pt{NH,), ICl, (B) [Pt(NH,);Cl|Cl,
(©)  [Pt(NH,),Cl,]CL, (D)  [Pt(NH,),Cl,]Cl
59. KS[Fe(CNiﬁ] T [UPAC 79 &
(A)  ORRREM HNEETEE B) drelrm HiuEEs
(C) UrRwm FEERARRE (1) (D) N2REm EEEEAHE (1)
The IUPAC name of K,[Fe(CN);] is
(A) Potassium ferrocyanide
(B) Potassium ferricyanide
(C) Potassium hexacyanoferrate (I}
(D) Potassium hexacyanoferrate (1)
60. T B,, o Jufed Tl
(A) TR (B) AWM
) @ | (D) e
24 / A/ XI11-5005-(37/40) Page 23 / 32
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| 1 18 |
Vitamin B, > contains
(A)  Cobalt (B) Magnesium
(C) Iron (D)  Nickel
61. [Ni(C,0,),1* % Ni f aw=w gy 2
(A} 2 (B) 6
€ 4 (D) S
The coordination number of Ni in [Ni(C,0, ), I*"is
\A) 3 (B) 6
€ 4 D) 5
CH,
62. CH;—CH—CH,—CH,C]l ®T [UPAC 7 &
(A)  1-FAR-2- AR = (B  l-FAATEEN=A
(C) 1-w=m-3-afe =9 (D) 3T A HiE T
g
The IUPAC name of CH;—CH— CH,—CH,Cl is
(A) 1-chloro-2-methyl butane
(B) 1-chloroisopentane
(C) 1-chloro-3-methyl butane
(D) None of these
63. C,H;Br +NaOH—-C,H.OH +NaBr fyafaflga % fra wwm 6
affopar 2 2
(A)  ForEITEfes faemem

(B) TheEd facemam

(D) ¥ A Fd
24 A/ XII-5005-(37/40)
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e

Br +NaOH—>C2HSOH +NaBr is an example of which of the

following types of reaction ?
(A)  Electrophilic substitution
(B) Nucleophilic substitution
(C) Both (A) ancll (B)
(D} None of these
64. Frerferian & fm Aere erss &1 e S, 1 B ¥ g A R 2

(A)  (CH;),CHX (B) CH,CH,X
(C) CH,CH,CH,X D) (CHy);CX

Which of the following alkyl halides is hydrolysed by Syl

mechanism ? -https:waw.bsebstudy.com

(A) (CH,),CHX (B) CH,CH,X

(C) CH,CH,CHX (D) (CH,),CX
65. a@ﬁwﬁﬁmaﬁw%wmﬁm%

(a) e (B) el

) A D)

Chloroform on reduction with Zn and water gives

(A)  Acctylenc (B) Ethylenc

- Mcthane
(C) Ethanc (D) .

24/&/}(1]-5005-:37!4@ Page 25 / 32
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67.

68.

() i don (B) T

€ = | (D) TRA

When ethyl bromide is treated with dry silver oxide, then we get
(A)  Diethyl ether (B} Ethanal

(C} Ethane (D‘j Ethene

T i ¥

(A) I CaCl, W ®ig HCl (B) 3W 2ZnCl, T &g HCI

(C) 3 AICI, W §ig HCL (D)  3TE PdCl,Td Wig HCI
Lucas reagent is

(A)  Anhydrous C&C12 and conc. HCI
(B)  Anhydrous va’J]l2 and conc, HCI
(C)  Anhydrous AICI sand conc. HCI

(D)  Anhydrous PdCl, and conc. HCI

H-2-31e 2 T
(A) I TRt | (B) ¥¥vSh Tehrets
(C) i vewigia D) sEERfes Wi
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Butan-2-ol is g
A i i |
(A Primary alcohol (B}  Secondary alcohol
(C) Tertiary alcohol (D) Dihydric alcohol
69. T=fafad § ¥ 9 Rigd TehIETd & 7
g
(A)  CH,CH,OH () CHy—C—OH
CH,CH,
6 (FHQOH ??Sc OH
© tuon 12 B
CH,CH,
Which of the following is a tertiary alcohol ?
Gt
(A) © CH,CH,OH () CHy~G—OH
CH,CH;
CH,OH THs
2 L
CH,CH;,
70. CHz—CH—CH,OH &I IUPAC 7 8
a)  2-Afe 1 -SETE (B) FRAIRW TewrEre
€ 2-2fm@-1sg (D) T & wg
¢
The IUPAC name of CH;—CH—CH,0H is bsebresult.in
(A) 2-methyl-1-propanal (B) Isobutyl alcohol
(C) 2-methyl-1-butanal (D) None of these
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mvg - a /| SECTION - B
®Y I AT uys / Short Answer Type Questioas

o wEar 1 & 20 my ey & 1 Pt 10 W F I F | T F fy
2 ¥% fraffx ¥ - | | 10 x 2 2 o

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 question,
Each question carries 2 marks : 10x 2=

1. e sl st arfe it § ger e w2 :

What are the main differences between physical adsorption apy

chemical adsorption ?

2. wafinfawrnd?

' 2

What is Brownian movement ?

3. RE I am F gay § frp-tmats g 1 3@ #t 2
Discuss electrochemical principle regarding rusting of iron.

4. HiR SIAFE T A9d1 BT 71 IWG T84T R 2 2
What is the effect of dilution on molar conductance >

5 WAty 2
What is mole fraction ?

6. AW W & INM4® 3T & wWY & UIee 1 Praw forg 4

Write Raoult's law of relauve lowering of vapour pressure.

e
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What are network solids ? Give an example.

g. WiH ATFRY F ¥ > sqmw ¥ Ty =wEn R 2
What is Schottky defect ? Explain u:rith example.

9.  HHY dod Wiewt v w1 Frmfor At w@ € 2
Why do transition elements form complex compounds ?

10. VT WA &A1 (EAN) I SIr@n Hi - 2
Explain effective atomic number.

11. RS Qe & 9% g forE) 1+ 1
Write the names and formulae of two ores of iron.

12. Q?ﬁﬁaﬂm@%ﬁ@&mﬁmmmmﬁﬂaﬁmm% ? 2
Why is cryolite ore used during the extraction of Al metal ?

13. Fz,mg,ar?qa‘lgaﬁgéa@‘qégm%ag%wﬁwﬁl | 2
Arrange F,, Cl,, Br, and I, in fhc increasing order of electron
affinities.

14. Kr{z=36]néxc(z=541mzéag‘|ﬁ$ﬁw%é| 14 1
Write the electronic configurations of Kr ( Z = 36)and Xe (Z = 54).

15. DNAW%WWE’@H&I. 9
Discuss the utility of DNA fingerprinting.
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16.  Feffea % wb-vs semm 3 - -

() SvE wgers (i) WO G
Give one example of each of the féllowing :

()  Synthetic polymer (i) Condensation polyme,
17.  USHHE TG00 F47 29 5

Which is Rosenmund reduction ?

18. Ulefiiwrze 99 e wor s9ar 2 2 2

How is polypeptide bond formed ?

19. wifeer W arfferar /i 2 2 2
What is carbyl amine reaction ?

20. fFr=fafaa S ¥ 1uPAC wc%@ - | | )

CHg OH
(i) CHy=¢—CHOH (i) CHy- (l,‘H—CHz——CHg —OH
CH,

Write the IUPAC names of the following compounds :

GHo | OH .
() CHs—¢—CHOH [ _iag~CH—CH,—CH,-OH
CHjs

_——'---.-F-F‘
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o (118 |
I e Long Answer Type Questions

#26ﬁéaﬁﬁwm§rwsaﬁ$m%rm$fw

5 3% i & .

3x5=15

estion N '
Qu 0s. 21 to 26 are Long Answer Type Queslions. Answer any

3 questions. Each question carries 5 marks :

21.

22,

23.

24,

3x5=15
AEET % I Y o e § > e A - A @ o

FAT R ? SRS W) 2+3

What do you understand by rate of a reaction ? What factors affect

the rate of a reaction ? Discuss.bsebresult.in

R TR > S A 7 P s w w2 2+3
What is sugp? How does it act in the cleansing of clothes ?

e fafy @ amfrn fmtor o1 frgra fo) 7= T g% Oia @ 68 51
Frfirfshar e 2 2 3+2

Write the principle of manufacture of ammonia by Haber's process.

How does it react with CuSO , solution ?

W’W@.ﬁmm’ﬁﬁm%@ﬁ%ﬁﬁ?

wn

How would you distinguish among primary, sccondary and tertiary

alcohols ?
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[11g
25. Trafafies e wfea gaemse - 5!

() Uceiad g9 - ) Hfemy sfrisean
Explain the following with examples :
(i} Aldol condensation (iij Cannizzaro’s reaction.
26. f=fafes % 1UPAC T fod - 5X)
o
H,—-COOH
() CHy—CH- COOH (i) 5
H,— COOH
(Ijl
(iii) Cl—-CH—COOH (iv) CH;—CH=CH—COOH
T
(v} CHz—C—CH,—COQOH
Write [UPAC names of the following :
(I)H
() CHz;—CH—COOH (1) §He~—COOH
CHy— COOH
?l _
(i)  Cl—CH-COOH (v}  CH;—CH=CH—COOH
fi'l) | fdeR a1 @ Tefea @afl creretd,
(v}  CHz—C—CH,—COOH #g_gﬂm“ﬂ o,  Tsfe
g UTal & f3T...
BSEBResult.In

fife s ()
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